2728-OMO54 Cutie Mohair Fisherman's Rib Scarf

Suggested yarn:
+ Pierrot Yarns Cutie Mohair [30% nylon, 28% mohair, 28% acrylic, 14% wool; 339 yds/310m per 0.88 0z./25g
skein]

« color #22 sky blue, 5 skeins [120g]

« color #23 pale pink, 5 skeins [120g]

« color #24 light papaya, 5 skeins [120g]

Tools/Notions:
+ 8.0mm (US 11) knitting needles or size necessary to achieve gauge

Finished measurements:
+ width 18cm/7.09"
+ length 217c¢m/85.43"

Gauge (10cm/4" square):
« fisherman's rib: 11.5 sts and 17 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge.
Alternatively, rework pattern with your own gauge measurements.

Knitting Tips

Cast on with long-tail cast-on and work in fisherman's rib. Always slip the first stitch stitch of every row. Work row 2 in k1p1 ribbing,
but k2 at each edge rather than k1. Starting from row 3, k1b for knit stitches only (that is, not for purl stitches). K1b for knit stitches on
row 4 as well. When finished, bind off tightly in pattern. Fasten fringe to each end in 10 places each.

% The entire scarf is worked with 6 strands of yarn held together (2 strands of each color of Cutie Mohair).
Abbreviations:

BO = bind off
k1b = knit 1 into stitch below the one on the left needle
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Attach fringe in 10 places.
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Attach fringe in 10 places.
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